[This question paper contains 10 printed pages.]

| Unique Paper Code
Name of the Paper

Name of the Course
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Introduction to Programming

Computer Science : Generic
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I
Maximum Marks : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of
this question paper.

Question 1 is compulsory.
Attempt any five questions out of Q.2 to Q.8.
Parts of a question must be answered together.

(a) Write a statement that uses the ternary conditional operator
to set an integer variable ticket to 1 if speed s

greater than 55 and 0 otherwise. (2)

(b) Write a single C++ statement that qutputs the string
Generic Elective I and the number 75 as shown
below: Generic Elective I 75 (2)

(c) An integer variable temp has the initial value 10. Write a
C++ statement that uses a prefix decrement operator to
decrease the value of temp to 9. (1)

P.T.O.
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(d) Declare a structure named employee for storing employee

details (name, salary, age, gender),

(3)
e . . . .
(¢) Rewrite the following C++ code snippet using a for loop:
x=1;n=10;

while (x<n)

{ | » |
cout<<x<<™\t”; |
++X; |

} (2)

(f) Write C++ statements to:
1) Define a constant N to be 100.

2) Declares a one dimensional array called dArray
of type double that holds N elements.

3) Display the tenth element of the array dArray.
(2)

(g) What will be the output of following C++ code segment: |
l

int age =9; |

cout<<age++; | 1)

(h) Give the output of the following C++ code snippets:
i) while (0) |
cout << “I am inside while “ << endl;

cout << “I am outside while ™ << endl’

(1)
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ii) for (int 41 = 1; i <= .10; i++)
if(i%2 == 0) cout << i <KL %;
(2)
iii) int i = 10;

for .(x 1i<E3, ¢ 1FH)
cout << “I am inside for 1loop

<< endl; (2)

A)Y

(i) What is wrong with the following code snippet?

class First{
int a;
public:
First (int 1)
{
& = 1;
}
void set(int n)
{
d = n;
}
void disp()
{
cout << Ma = M << a << “\p”;

}i
int main()
{

P.T.O.
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First objl;
objl.set (2);
objl.disp ()
return 0;

} (3)

(j) Declare a class Student that is publicly derived from a
class Person. Assume suitable data and member functions
and their types. Function definitions are not required.

(4)

2. (a) A ten-digit phone number, such as 2127678900, has three
parts: a 3-digit area code (such as 212), a 3-digit exchange
(such as 767), and a 4-digit number (such as 8900).
Write a C++ program that uses a structure named phone
to store these three parts of a phone number separately.
Declare and initialize a structure variable of type phone.
Also write C++ statements to display this phone number.

(6)
- (b) Write a C++ program to display the first n even numbers,
where n is a user entered parameter. (4)

3. (a) Write a C++ program that asks the user to enter the number
of rows (r) and number of columns (c) of a 2-
dimensional integer matrix marks. Here, r and c
respectively refer to student ID and subject. Each cell
value depicts the marks obtained by a student in a particular
subject. Accept the marks matrix of order r*c from the
user. Find the total marks for each student. (6)

Scanned by CamScanner



44 5

(b) Write a C++ program to print squares of numbers entered

by the user using a while loop. When the number entered

is negative, the loop should be exited. 4)

(a) Write a function count in C++ that accepts a one
dimensional array 1ist of integers. Also accept an integer
variable num from the user. The function count returns
the number of occurrences of num in 1ist. Call this

function from main () and display the result in main ().

(4)

(b) Write a C++ program that accepts two floating point
numbers from the user and displays the following menu.

1. Multiply
2. Divide

According to the choice entered by the user, the program
employs a switch statement to perform the desired

operations and display the result. (6)

(a) Find the errors in the following code snippet and give

reasons for the same:

class Cl
{
int 1i;
public:

P.T.O.
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Cl()
{
1=07
}
protected:

int k;
};
class

{

C2 public Cl1

public:
void add()

{
''cout << k +

1;
}
int main()

{

Cl objl:;

C2 obj2;
cout<<objl.i;
obj2.add ()

i) int x =

if (x =
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cout << v << " is same as w <L

y << endl;

else )

cout << X £ N 1S not same as
(2)

<< y << endl;

iji) int 1 = 15 7/
|
' for (int 3 = 2 i 3 <= /% 5++)
if ( i%3 ==20 )

AAY

cout <<j<< v 1is a factor of

<<i<< endl; 4)

having three floating point

(a) Create a class Triangle
side2 and side3)

data members (sidel,
corresponding to the three sides of the triangle. (2)

(b) Define a parameterized constructor for the Triangle
class which takes three parameters to set the three sides

of the triangle. - (2)

(c) Define member functions for the following :
(i) Display the sides of the triangle

(i) The function should return zero if the triangle is not
equilateral and one otherwise. An equilateral triangle
has all the three sides equal. (3)

P.T.O.
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(d) Create an object of Triangle class in main function ang'
show usage of the above member functions. €

7. (a) Create a class Building having the following integy
data members:

no Rooms, no_Floors and Area.

Derive the following two classes from Building:

XNy

1) House with two integer variable;

no_bedrooms, no_washrooms

2) College with two integer variable

no_classrooms,  no offices (6)

(b) Write a function factors () in C++ that accepts 4

integer parameter num from the function main (). Th

function factors () returns the sum of all the factors
num. Recall that a nymber n is said to be a factor of
if n divides m. For example, 3 is a factor of 6; but 3if

not a factor of 7. . (it

8. (a) Declare a structure Time that includes three integf
variables viz. hours, minutes and second&g’f;
Declare a Time type structure variable CurrentTim@%
Write a C++ statement that sets hours member of i

member of the CurrentTime structure variable equal_

Lhe ¥

25 and seconds member of the CurrentTime struQ{

. variable equal to 12. E
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(b) What is the output of the following code snippet?

char ch = Y/
switch( ch )
{

.
4

case ‘a’
case ‘e’
case ‘i’
case ‘o'
case ‘u’

cout << Voﬁel “<< endl;
default : cout <<“ Consonant “<< endl;

} (2)

(c) What is the output of the following code snippet?

void MyFunction(int a, int b = 40)
{
cout<<™ a = “<< a << b = "< b << endl;
)
.int main{()
{
MyFunction (20, 30);

return O0;

) (2)

(d) What is the output of the following code snippet?

P.T.O.
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10
class A{
int k;
public:
A()
{
k=1;
}
void set(int n):
{
k = n;
}
void disp ()
{
cout << Yk =
}
};
a f()
{
A ob;
" ob.set (50);
" return ob;
}
int main{()
{
A objl;
objl.disp();
objl = £():

objl.disp ()
return 0;

“wW o< k << ™\n

(!
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Sr. No. of Question Paper : 974

Unique Paper Code 32345301

Name of the Paper Computer Networks and Internet

Technologies

Name of the Course Computer Science: G.E. for

Honours

Semester 111

Duration : 3 Hours Maximym Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.
2. All questions in ‘Section A’ are compulsory.
3. Attempt any five questions from ‘Section B’.
4. Parts of a question should be answered together.
Section A
1. (1) Identify a layer of the OSI model responsible for the

following functions :
(a) Route Determination
(b) Interface to Transmission Media
(¢c) Providing access for the end user

(2)

Flow control

i P.T.O.
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(i) Differentiate between the terms Internet and Intrape,
)
(iii) List any two advantages of a multipoint Connectig,

over a point-to-point connection. )
(iv) Differentiate between TCP and UDP. 2)

(v) Define Functions in JavaScript. How are thes

different from methods? (2)

(vi) Differentiate between Break and Continue statements

with suitable example. 2)

(vii) Differentiate between Alert and Confirm dialogue

boxes. (2)

(viii) Explain any two attributes of Table tag with example
in HTML. 2)

(ix) What is the significance of the twisting in twisted pair |
cable? (2

(x) Differentiate between Hub and Repeater. @)

(xi) List any two advantages of star topology in computer |
networks. (2)

(xii) What is the difference between ordered and unordered

list? Write HTML statement to display ordered list:
| 3)
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2. (a) Explain functions of Transport Layer in the OSI
model. ' (5)

(b) Identify components of a data communication system.

(5)

"w | _
‘3. (a) Define TELNET. Illustrate Remote Log-in using
TELNET with the. help of a diagram. (5)

(b) What are the advantages of Fiber Optics over Copper
as a transmission medium? | (5)

4. (a) Create a Registration Form for admission in a college
with Input Type, Select and Text Area commands in
HTML. (5)

(b) Create an HTML document containing Roll Number,
student’s name and Grades in a tabular form. (5)

5. (a) What do you understand by Events in JavaScript ? Write
any three JavaScript event handlers with brief

explanation. (5)

V_'“

(b) Write a program that creatés an HTML page accepting
the name of user. Add a button to the page, on clicking

which, the user should be greeted. (5)

P.T.O.
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6.

7

4

(a) Write a program in JavaScript to read a list of NUmpg,

and count the number of even numbers ip the list.

§)

(b) Create an HTML form that displays two text boxes an;
two radio buttons. The first text box accepts a numey;

(
value. Write a JavaScript code such that:

(i) If the first radio button is checked, the secon
text box should display the double valye of they
number entered in the first text box.

(i) If second radio button is checked, the secon(
text box should display the square of the number
entered in the first text box. (5)

(a) Explain logical operators with their syntax in J avaScript, |

OF
(b) Discuss the different ways to apply a style sheet to an
HTML document using examples. (5)
Write short notes on the followings (any two) :
(a) Radio Waves
(b) Real-time Conferencing
(¢) Bridge ;
(d) Uniform Resouyrce Locator (10)
(1800)
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Roll No.

s. No. of Question Paper : 1366

Unique Paper Code - 62347501 | - IC
Name of the Paper | ; Visual Programming
Name of the Course = : B.A. Programme ;: Computer

Application : DSE-1

Semester . IR %

s

Duration : 3 Hours M_a,\'ir{] um Marks : 75

(Write vour Roll No.- on the top immediately on receipt of this question pa;je_f‘.)
Question No. 1'is compulsory.
~ Answer any five questions from the Section B.

Section A

. (a) What aré. the windows p_'resént in VB environment ? 2
(b)  Write tl:Ie names and ﬁse of any three controls present

in the tool box. s

What is an 'assignme_n't Statement ? Explain its use with

©
exam'ple..‘ 2

b | (d) "D'iffer.ehtiate between chéck box apd option butt-(-)n_.31
| RTO.
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(/)

(®

(h) .

(0

S

@

‘dimensional array of marks of class of 25 students,?
~ Write -the output of the following statements : 3

(a) ‘Printer: Print 1,2.3.4,5 -

(¢) ‘aPrinter._ Print. y

‘What do you mean by scope of a variable ? How can |

—
(N
~—

1366 %

‘What ‘is the Tool Tip property of a control ? How can

. you set this '])f'()l')cl'ly 7. T ¥

What are Named and Intrinsic constants in VI3 ? Explain
with examples. - ° . : 1

What is a Message box ? Give its general form, 5

|
|

Define an .array. Write the VB statement to declare single |

:

(b) Prin_t'er.-Pt‘int Tab(10); "name"; Tab(30): "Pay"

What is Variant_Data_typé ? Explain with an example.2

- Section B

variables and constants be declared in a project having

BT RS SR

multiple modules ? ) I+

ol s inGy

1

v |
A
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(a)

{c)

(a)

(6)
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-
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[(#]
s
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e
£
3
-
<
(2
—
3
-
et
o

Explain anv nvo Format functions available in VB. 4

State the difference beﬁveen- Do/Loop and For'Next loop
with an example. _ -
What is a Function ? How is it different from
Procedure ? _ , 4
Define \-"ariable and Constant. How aré the} declared
in 2 VB program ? IR ' 2

How can you Add and Remove forms from a

project ?

)

"What are the different ways to add items in a List
%

box ? Why does a list need bﬁth IterﬁData property

and ListIndex property ? - 244

P.T.O.
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(©

(@)

“-conditions :

1366
Give (he o'ul'put of the l'()ll(lm'ing'VB statement ;‘ 3
Privaré Sub Cmd_Click ()
Dim A as ln.tlcger
Di';n_'B as S'l-ring_
.Din.1 C as String
.A=5, B="5"
_C_=‘A-.& B
| End sdb‘._
'Wﬁét_is- the‘- pur_posé -c')'f_ val function 7 - = 2
W‘hatg.re Daté IConfrol -and.'l-D‘atz.l Bound ._Contr—ols ? Give
: ‘a_n_y r.fwo prc%pértieg of e'él_c'h‘. | l2+'4
'W.ritel the_"\-/B _statemént 'to se;t -crdp_tio_n' o.f a label to
:italiés at ‘c_lgsigh. tinie.‘ 2
.wr-i‘tef '_thé lS-élect C.as;:\stat‘e'ment for the fo‘llowingl.

4
() If Age <=12, label should display "child"

Scanned by CamScanner



®)

(a)

(5-) , 1366

(i) If Ade >12 and <=18. label should display

"teenager”
(i) 1f Age >18 and <=59, label should display "adult"
(iv) If Age.>59 . label should display "Senior Citizen".

Write the VB statement to do the following tasks : 6

. (i) -Declare an array-named. CurTemp with 3 rows and

3 columns.

- (i) Set the elements in the array as péi‘ the following

‘_ table :
_Déllh'i : | Mumbai 2 Srinagéi‘\ =
Jan’ - 15| 25 _4
Feb. 20 s T
Mar 25 3 __35 s ' 20 :

%"

Write’a VB program to input 10 numbers in alist box .

-~

and find the sum of the numbers. | ‘ 5

P.T.O.
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by  Write lt'-Then--EIs'e construct for the following
cond'ilions : el - 5
() If weiéht >10 kg, label rshould display "Zone A"
(r'i)' If .weight <:IQ:kg and :>:¥5kg. label should display
- "Zone B"
(i) Ifwé‘i’ght':<=5 kg and >=3 kg, lqbel should display
(%) Otherwise label should display "Zone D"
Crevate a project that tak_es"an ;ampl‘_oy?e“s name and 'séles' as
inpu.t. 'Ea(':h émpl(’)ye;é r.écei;\fels a .basi_c ;lja)./Ao'f Rs.éOO plus a

sales é'ommiSSio_n of 6 percerit of sales. Calculate the Gross

Pay, DEdUCtiOIHSA a-r'1d';"=N'e.t’ Pay: as per ‘the fol']owi.ng i
condition ot gre ' e S
-‘Cé.mrrii_ss‘idn' '6 % 'Gf's'ale's :
.Gfoss; Pay ,‘Bas-ic Pay + »C.-Omm-issio'r;.
“:.'- N';‘tk Pa'y"_'?«"" c s e ’ R

’ Gross ng—-dedué_tibns.
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(aj - Design a form having Text boxes for employee name
and sales. Us}e label to display the result of the
calculations. Create command buttons for Calculate, Clear

and Exit.
(‘b) ~ Write the code for culéulating Gross pay, Deductions

and Net Pay.

1366 . 7 i a0
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Roll No.

5. No. of Question Paper 1367

Unique Paper Code . 62347502 . I
: Name of the Paper . Programming with Python
Name of the Course B.A. (Programme) Computer
Application-: DSE-1 |
Semeseer "R ¥
,‘ Duration : 3 Hoers S Maximum Marks : 75
) . _

(Write your Roll No. on the top immediately on receipt of this question paper.) .
Question No. 1 is compulsory.
Attempt any 5 of Question Nos. 2 to 8.

Parts of a questlon must be answered tovether

e

1. (q) Wthh of the following is an mvahd name’ ? 3
' () my.string 1. )
(i)  2nd_string

(i) foo
(W) init
(V) - in
) it

(b)  Which of the following -is an mval:a’ statement ? 1

()  abc = 1,000,000
() a b c = 1000 2000 3000
(i) a,b,c.="1000, 2000, 3000.
() ab c = 1,000,000

P.T.O.
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(¢) . What is the output of the following c¢oq,
segments 7 | - 6

) % = abcd' .

' for i in range(len(Y))
x = 'a' -
print (x)

BRI (/) I M R
: .while True:
if 1%007 == 0:
‘break.
print (i)
I T S

“(iif) - def foo(k):
= -[0]
foo(q)
‘print(q)
() What ‘is the . output of the following Python code
? -fragrhent ? ,JQStifi" .y_‘our‘ answer i. .. | 3
R () weekdays'=' : o i T
' _”[,sun , 'mon’ ', 'tue' , 'wed'; 'thu',
'frl' 'sun’, mon"'mon']\) -
| print(weekdays;coudti‘mOn'))
(i) | ' '
weekdays =
- ['sun','mon', 'tue’ Wed';’thui,?fri',
“'sun', 'mon’', ‘mon’ ] L 2
print ([ [x,weekdays.count (x)] for x in
settweekdays)]) ‘
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.,(e) Translate the following while loop into a for

loop : o e o 3
i =20
while (i > 0): |
print "i =", i
i=-1

(/)  Rectify the error (if any) in the given statements : 2

>>> str= "Hello PthOnﬂ
>>> str([6]= "g"

(g Under what condmons is bmary search used ? lee

the outlme of bmary search algonthm Given :- - -7

&

testllst [O 1 2, 8, 13 17 19, 32 42L-

lllutsrate the operatlon of the bmary search algonthm

to search for the number 13555,
What is the o"utput..'of the following 'code segn’ients ? 10

(D ‘class test: ‘
. def _init__ (self a""Hello World”
; self a*a ; i

* def diSplay(self)A
print(self.a)
Obj test()

obj.display()

P.T.O. ,
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(i7) class test: .
def _ init__ (self,a):
self.,a=a

def display(self):
print (self.a)
obj=test ()
obj.display ()

.((ﬁﬂ-.dEf power (X, y=2) 1

r =1

for i in range(y):

' b L TP L
return r

‘priht'power(3)
print-power(3,‘3)_

) % =2 .
. for i in range(x):
AN R ' |
print (x)
S m i=0 ‘
~while i L 35
~ print(i)
Coi 4= 1
SRECY L SR E e
jprint(O) o

; (a) - -.For t_he'_ givéh _a‘rfay' afr = -‘[‘1,2,@,3], appl}‘f.
‘bubble sort algorithm fo_ sort "tlh'r;_array elements and
'a-lspsl1ow_thé médiﬁed list after each iteration. 9

(b) - .What isa queue ? Write a Pythén cOdé tb créate an empty
queﬁehhﬁﬁaﬁzciTQntandrearsuhabba o )
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What will be the output of the applying the following list Functions
on list given below ? 10

Ll=[1p 3r 2: 121 2: 4; 3] .
.append (10) |

.count (2)

»1ndex (12)

.insert(2,15)

- Yemove (2)

e

(@  Write a function to compute the following series

Sum=1+1/2%+1/3% . +1/n?

() Evaluat;—; the'fo‘l]owing'expressions.: - .

\

o . -7*20+8/16*2+54
@) 5°10+1o 25*8//5

(iif) 10+6*2**2"9//4 3 and 29>= 29/9

() What will. be the output of the followmg code

segment ? P ' - 4

© for letter in 'geeksfgrgeeks': '

if letter == 'e' or letter ==
~continue :

‘Print 'Current Letter 2% letteru

‘-s-'.:

(@) = Write the output of the folldwing code segments- : 5

()

for letter in ¥ geeksforgeeks'-

©» if letter == '@ or,letter == 'gf.
. break. ' e

print 'Current Letter i, letter g
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(i) def myfunc(a):
a =a+ 2
a=a* 2
return a
print myfunc(2)
(b) Write a pytho'n function to find the sum of all t,
“numbers provided by the user as the input. 8
()  Differentiate between type conversion and type coerciop
with the help of an example. R

“(b)  What will be fhe output'the folldwing code? - [5]

def f(x 1=[1):
for . 1-4n range(x)
| 15, append(l L)
prlnt(l) |

jf(2> ..
- £(3,13;2,1])
_f(3) |

i) Write the output of . the - fo]lowmg python code 5

llS = [1 2 3]

lisl = [4; 5, 6]

.11182 lis + . llSl

print (! list after concatenatlon is')

-for i in range (0, len(llsZ)) :
» print (1132[1]),

‘prlnt AT L - i

1is3 = 1is * 3

pPrint ('list after comblnlng sty

I_for 1 1n range(o len(lis3)) s

‘ - print (Lis3[i)),
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(b)  Write output of the following python code - 5
()

X = "Welcome to GeeksforGeeks"
print x[2:5]

print x[4:10:2]

print x[-5:-3]

a 1i=0
while i < 5:
- print (i)
1 +=1
if 1 == 3:
Cl break
else .
print (0)
1367 | o it 800
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Roll No.,

S. No.of Question Paper : 1441

Unique Paper Code © 62343502 1
Name of the Paper ~: Open SourceSoftware
Nam.e of the Course :  B.A.(Prog.) Computer Ahplications :

Skill Enhancement Course
Semester - | e Vi
Duration : 2 Hours Al Maximt_l.m Marks : 25
I( Wrile_ybur Roll No. on the tép immediarély bn receipt of this que..mon paper.) -

Question No._ I is cbmpulso_ry.

Atte;'npt aﬁy rhree questlons from rest.of the five.
l.- S (0-_ ‘Which loop repeats a group of statements for each i
i Iteﬁ in a collectton of objects for each element in an
 array 7 W _ St
(@) While loop A '
(1;) do whiie_loop
(¢) do 'unAtil- loop
(_d) for .loopv
PTO.
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~varigble is declared inside a procedure

(@ global
(b) local
('c), éxternal
(d) internal ~ |
(iii) | indicatés whether a p.a}'ricular condition is g
o oﬁ;“.
(@) Text box
(b) Check box -
(c) - Combo l;bx e
(H)‘ ,Lis't: box
' '(zjv.)_ Am__ s .use‘d'.- for both input‘ a_nd output. -
@ abel ‘ '
® textbox
(c) ;ombo 'qu-. iy
'_ (). Qcom‘mia‘n"d button

T -\./ariable_'l deélarationi_i‘s done using' the | =

~ keyword.
(@ Var
®) Dim"

(¢) Declare .

(d) ” Statié !
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hi‘ e for [ e 1 p ‘ s
Which file format offers (he bes Image compression ?

(@) IPG

b)) GIF

(vii)

(viii)

(©) PNG
(d) BMP

What is the shortcut key combination in GIMP, to cut

the selected item ?

(@) Ctrl+Y

(6) - Ctrl + C
() Ctrl + X |
(d) Cul+ Z

What will happen if GIMP . image is Bigger than the image

window ?

(a) | Image resize dfalo_g box appears

(b) -GIMP displays the image in a reduced zoom level

- (¢)  Error .message is shown

(ix)

(d) Image. is not displayed

_Wh.'ich*programmi'ng_language is used to write plug-ins

inGIMP?
(a) C

() Java
(cj Lua

() nyhon

P.TO;
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(a)
(b)
(a)

(a)

&)

().
©®)

B Sou;ce Soﬁ@are LR — =g
(b).
(@

-0

144
What is the shortcut key combination in GIMp, for
un_d‘oing the ].asl action ?
(@) Ctrl+ Z

(b) Ctrl +C

| (©) - Cul + X

(@ Ctl+Y. o e 10x1=10
Highlight any three features of BSD License. S

. Bfieﬂy expla'in two features of Academic License.” 2

- Which two licenses permit commercial use of the Open

List two disadvantages of open source software. 2

. Define the term '.'Wa}'rant'y of -m'erchantab.i‘ lity". 3

()

Wh_at do_,you underS_tand by- the term Open Sour.cle'?

How is LGP different from GPL 2~~~ 3

‘What does the ‘term "You" - mean in Apache

Litense 7, = & whpbi e e i Rl 4
Differentigte between Contributor and Licensor. 2

What does Academic License state about Jurisdiction,

Venue and Governing Law ? - ’ ¥

4 ot | 600
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150 RO'I,NO.‘ ':V"” - ot ifsy ’i;‘ “-, ‘ ,!:f j

S No. of Question Paper ;- 1 1480

Unique Paper Code . 62345501 IC
Name-ofthe Paper - : T Fundamenta’ls -
Name of the Course . B.A. (Programme) Computer |

Apphcatton G E
Semester ‘ V‘
__ '[')oration:JHoursa e - 5 Max1mu‘m Marks : 75
\.(Write }.)Oulr'Roll No. OI.? the top itnmédiarelv-'oh receipt of tht's question ,oaper.)
- Questlon No. -1 is compulsory |

Answer- any five questlons from the Sectton B.

- Section* A
{4 _(a_)" D,et‘in‘e theefollowmg tef?‘§ﬁ .'..—'.4
(O Web Page a5, MRt .
‘ '(,f) Web Browser

.(b) - What -are the mam functlons ﬁof .an operatmgj
' system 2. | ‘ 4
(c) ~Briefly explam dlfferent modes -of data. transmtssmn 73
(d) : ~What is the use of RAM in computer system Tr 2
(e) ';Explam the terms entlty and relatlon in database.

: 'management 'system. 2
'PTO.
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(b)

AT

| ‘ { i g ¢ ' 1 i ig B
tWhat do lyou mean . by cofiputer network ?
i 7! WP

NPTy

(i) WWW

. i ( ¥ ) ¥ : i . T
Y TRy \ : LA T S L o F°f 4t 4L i N
Peigiitey Dty B SO0 1At Gtaleonn 4131480
i : .~ : Ty

a2

CUSIA Nt N e Lt e Gl

Give full forms of*'the’ f'olloWiljg wtilpil) i oA s 1

() OCR

(D) BIOS.s: s

L N TLER R ERAE] PR

() URL™

Write short notes on : - TR 4

i) Cache T'M_emory'--.»'.:....i. S e

- (i) Prlmary _il_(ey. s | " |

- Section B

List and explain different types of scanners. - 4

» ooy

-Explain various components of a computer system with

the he]p of block dlagram SEENE R g .' 6

: 'What is ROM ? leferentlate between EPROM and_

Sl

-

-
‘o $ 4
Gud o ii ]

Descrlbe any three 0mde:d and unoulded data

.=I 'f""'

transmission media u's;ed in data communication. ©
o it ‘_--'. .:-_l.l X "
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& ';s:_;,?":(fa)‘f"-""Eﬁ'p-)lél:i'n 'tlﬂ"é -.lr‘unet:i"od's%-‘50!"‘-'a?ny “fourirefisters used in a
| ’Cblhhiler Bystem, frinn I Gennnih 4
(b)~ What is system bus" "Eﬁéfflﬁih'variotls types of the
»;yéte‘ni‘ b}ls-'. SR SLE e wigdgsd (A 6
3 (a) Write short notes on the .follovVi"n'é devices 4-
0 Toick Seldirs 1

o Toysik,” i

()  Differentiate between the Afollowing‘ : ' 6

i , RAR VAW AT aiEtga A S
(9 Printer and Plotter ”

ER ! Lrbyas pes
Fol 0 A |

- (i) Pointing and Picking devices. |

i [y
P ETN

6. (a) What is “an operating system ? Explain the following

A -

t:ypeslof' 'operéting .systejm :- - . 5
(1) Batch Processiﬁg Opérating_ System
;(ii) ‘_lMultipro;:essbr"i O;;eratingS);stenﬁl _
&) .Exp"lain‘ the .different- éompo-né.nlt; of a ‘daf.a
communication system. ‘ L B R |

:P.T.O.
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‘v--:(a)?-;z,a\h’.hat;;aar_e,-,t-he“--fdiffércnt:-types ;of‘w,'r.EI-ationships in g
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» I3 1 1 ¢ ' 2 L " i {
§ 3 Yoo 14y b : i
. re Y i1 ‘ :
~"'.‘;“ PR w2 ¥ . ! ‘

1480

'database nmnagpmant system . ?.:Explain w:th the help,

of a suitable . example. . S TR Y 6 J
{
1
b) . ‘Explain four advantages of:. da,tab;ase management !

A SYSIEML s it g, paton beflie gt s A
Py Liaesvirtidds ELE % :

[ 2 L

T Describe electronic mail as a way to communicate with

g

k.o‘ther- internet‘.t‘lsérs;' .Alsa_explain itsf‘vﬂvorking with_rt_he

' help of an example N 4 £

ot S TR el R E T i
LR ' " ’-".'T""? AL L AR AS g e g <
= ,,;,.4 r'.‘ SRR ” e = r

‘"('b)’ ‘Explam LAN WAN and MAN w:th a surtable

).‘
EeRE A

e'xamprlé,.(’):f Aeac':h'.r-' = S e R 6

sl - Lo e | i ELE £ : : 2 7
i AT peesveni Yy CRTILR ST Ll e fetda - 2y A v
= R Vi T & Lot WA R 1 0 B0 L Sl RE S A LR : .
Y ) ' - - . p. Z HE
I
o -
5
...... \
H o s SRR RS
1 eaqd ) ¥ v
fiv d 4 L5 PR i
~»
_?r,s 3‘:,1“ PIILIRETT ; hr
-
i Ay
800
; 4 _
] ;
b -
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